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— 230=32 SHE Oot: XS4
100,000 »2CH 53] 1,000
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—230=32 & - ol=% 23
600,000& =128 7,200
— 2340=3l2 HtE AR
2,000,000&x12& 24,000
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8,000,000 14! 8,000
03 HAI2 G HI 100,000 10,000 90,000
OJIgldA2d 10,000,000 =1 Al 10,000
OJI8&2d =& 90,000, 000& x 14! 90,000
202 044 5,400 9,000 A 3,600
01 2L Y| 5,400 9,000 A 3,600
Osted HI|IE3 L 0lAta &A 262 0 |
150,000 4 X x63| 3,600
OFAl SRF& HAFEH 22 04|
100,000 *3H x63| 1,800
206 M = dl 26,400 37,880 A 11,480
01 X2 bl 26,400 37,880 A 11,480
OZUE U HAZ 288E 2
2,200,000& x12& 26,400
301 dEtE M= 17,000 272,200 A 255,200
09 #HAIAHI XIS 2 5,000 256,400 A 251,400
OJIg&ad =& 5,000,000 =14l 5,000
12 JIEtE A2 12,000 15,800 A 3,800
O2stwa 2AIE 100, 000& *4JH Btx303] 12,000
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01 Al&H| 460,000 244,066 215,934
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OZZF4 HA ALY (MBAILF2Y )
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01 =8l 10,000 10,000 0
OAN2SIMSHEH 2228 MEaFL(RUS
o E2ES) 10,000, 000& * 14 10,000
401 AIEHI L 2CHEI 100,000 150,000 A50,000
01 A& Bl 100,000 150,000 A50,000
OAMBIZSHSHE “FAE =488l
100,000, 000& 14 100,000
405 XtAtE SHI 33,000 57,500 A 24,500
01 AL ESFH S 33,000 57,500 A 24,500
OUSHE HeAIAN Al 2
15,000, 000& * 14 15,000
OALZAE 24601012 WP
3,000,000 6CH 18,000
SEIFsra 2el & 29 368,373 411,957 A 43,584
101 1Al 3,600 3,930 A 330
04 JI2ZtHZ22 a2+ 3,600 3,930 A 330
OS2 BEHI L ORI AR (MEY
aE2d>Y TZEH 74,960 *4H 2 x33] 1,800
OS82 ZZ4 MX ARY(MHYSBHLY
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01 At 22l 96,258 128,318 A 32,060
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— 2D 222 L BRI
300& *3,0000H 2 *23 1,800
—2&¥Z JIEZN =2
2,100,000& *90%*3. 3% 63
OA&ZEHlI s X bl 6,000
—2d2 ¥ FHl |XHl 500,000& »12& 6,000
03 &Ar2 I 85,000 55,000 30,000
O=octhsr 29 1,000,000& =102l 10,000
O0egolzstus 29 5,000,000& 13 5,000
O=ZEZsHH dA2Y 20,000,000& =12l 20,000
O=SZZs&d 228 24 50,000,000& *13l 50,000
202 o4dl 2,200 2,200 0
01 = LH o4 1l 2,200 2,200 0
Ozstz gt22isl & 3oza
100,000& »3H 43| 1,200
OFAIE =&, Z AN @2 oyl
100,000 »2H x53| 1,000
206 M= Hl 2,500 4,500 A 2,000
01 M= 4l 2,500 4,500 A 2,000
OXANE & &3 HelH 50,000 =504 2,500
301 LA F 2,880 5,760 A 2,880
12JE243 2,880 5,760 A 2,880
O=&a T£E AHI243
30,000 «2H 42« 1201 = 2,880
307 glz2+ol & 75,000 125,000 A 50,000
04 QIZFHALAIH E = 75,000 125,000 A 50,000
OZR&ZsHH 7,000,000& =13l 7,000
Ostd 2t H ALY 7,000,000& 13 7,000
OXgEA =32 7,000,000& =13l 7,000
Ogtstg A Z | 3 3,000,000& 13 3,000
OF=-EN=PNR=E==0 k= 2,000,000& =13l 2,000
OZ8 2s=H 30,000,000& =13l 30,000
OFAEIsta =2 15,000, 000& * 13| 15,000
OHMALESSE 1,000, 000& *13] 1,000
Ol e=SEAlSHH 3,000,000& x13] 3,000
401 A& HIZ 201 8] 61,000 41,000 20,000
01 A& HI 61,000 41,000 20,000
O=stz JHE =l 55,000,000& =14 55,000
O=2&a MIIGHMAC SHRBAE (SBHAEA)
23 M 6,000,000& » 14 6,000
Bl EQIssn =240 = 19,000 37,000 A 18,000
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201 L2l 15,544 30,700 A 15,156
= 15,544
03 A2 Z I 15,544 30,700 A 15,156
O30 EREsE l=ddus 23
15,544,000& 14 15,544
= 15,544
301 LEAZ 3,456 6,300 N2,844
= 3,456
09 HALAHIX A S 3,456 6,300 N2,844
O&CE EQIssn Al 2 2tAald|
3,456,000 » 14! 3,456
= 3,456
2T 2o3H 150,730 164,390 A 13,660
= 97,236
Al 53,494
201 £B-2d| 150,730 164,390 A 13,660
= 97,236
Al 53,494
03 A2 Z Hl 150,730 164,390 A 13,660
ogg==2s32 150,730, 000& 14! 150,730
= 97,236
Al 53,494
ZHs2 Eotlz=nsZ2 08 NJAAZ 13,000 13,000 0
= 10,000
Al 3,000
201 L2l 11,200 11,200 0
= 10,000
Al 1,200
03 &Ar2 I 11,200 11,200 0
O20z 2 2ozsn=s=Z208 XA
11,200, 000& 14! 11,200
= 10,000
Al 1,200
301 LeEA S 1,800 1,800 0
09 HALAMHIXI &3 1,800 1,800 0
O20z & 2osn=s=Z208 X
1,800, 000& 14! 1,800
HE2LAZHI (20 AL 22l t) 171,980 180,490 A 8,510
ClARIH(20AIE 22 H) 46,316 46,316 0
ol HH|(20AlE 22]1t) 46,316 46,316 0
101 @14 Hl 46,316 46,316 0
01 2= 46,316 46,316 0
Ooxzuz=e+¢ 46,316
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EAH| (20 A& 22 D) 125,664 134,174 A8,510
J23H (20 A& 22 ) 125,664 134,174 A 8,510
201 LBt 9| 72,204 75,194 A 2,990
01 AP 22| d| 72,204 75,194 A 2,990
Ogbt4=24| 15,104
—Jl2Afs 3| 100,000 23X 2,300
— 32 Y MY CKE S8 AIE=
160,000& 20 12 3,840
— 3l 2 MHEH 2AD SX22H(EYH &)
330, 000& *2CH *33] 1,980
— 32 Y MY Zelg, HA X 22|
237,000 *2CH *33| *2JH A~ 2,844
—Z2ANE2X 2L (32, HH)
23,000 x158F A« 128 4,140
o294 57,100
— Y =R4LG (g @ HE)
50,000 *2&H *3652 +50, 000 x2H x 120 48,500
— 2 =XLG(2EH) 50,0002 1 x120 6,000
— 2 XL (SEUH=BH2)
50,000& 1 »52 2,600
202 o4 | 49,680 55,200 N5,520
01 2L I 49,680 55,200 N5,520
O20 A2 JI2g4+a 20l
20,000& x23H x108| x12& *90% 49,680
203 YR = T Y| 3,780 3,780 0
04 FEASHEYIFFEH| 3,780 3,780 0
OO0 Al &2t 350,000 x12& *90% 3,780




